- |

 DuOeEmED W B Oeed WELINDSH Bwdn oy D180V - @¢dH BOO®

& oz Ban DAOBINE®

ebwm elteens - 2017
§Bm edmma 01 g8Sm Dexd - MCC1103

maEe: 3@ eem (02)8.

g :2017.11.12 ©DE® : @.0. 10.00 - @y 12.00
coeged:

o ‘@ omO8y ydm ccmmmON (02) ‘g’ emd8s gdm ecnmO (02) 8ndr

3B BIB).

o O O EmDBDO e BT MmEw 0O »oses O BHO.

o &5 O EIOBO ebxt eDD BERG vew 6Dt eD5ID g8 em Wil e¢sIn.

o 50 Mg BBBE CER- '

o DOHOWS On WE ePNVB OHD BIY WD BE ViBG.

L ]

Bad® gdm sew o CReh Cled.

‘q’ @mde

01. (i) “§8m ab8m yd»DEO §nem oy CAsTes? ecdmoed g ¢dud $O0OCE
u®d.”
Qum YInas ©0n 08 Omw Driesiy? dmw emdrieniy? dded BERJS ST
DOBTB). (cmeg 05)
(i) Bewed Osdene pbSmun §Bm culeen s1wEE WOBTIH. CEViH e¥DnIBy.
(cme 10)
(ii) Beeoerm wBws @8O Dy D¥eCuens aydsy vun etedm WO B10EE
DOBIB.
29ed BENJ w128 B8O wewr Gedwst owig ouim.
o B D IS B8O
o Admem v B SHBO Drwd ¢ aB cfews.
o ®ur cowh CBEWIYHG , (cmen 10)

02. (&) (1) e7183® %00 81088 OB (emeq 05)
()  oea® goiems edmnudE wy By® e0nEdd gnd cONEHO
¢ OnIsy. (cmen 08)

(@) oCcE® @ ;mug® ddedems ewg 0h8H vown & @B mOwsy eews

edgersecd B¢ 8w v cOMEHO sl »OH. ded BEDS uwE8 BRI

BEWI G B38ONsT ©wWIE OBID.

(1) 0@ SO B wnemsl MmEs gEnoncdd gue wom Gmd BHmD
DEIemedhnn 608. e@f08 JO wgw eDEgLE.

(i1) ol B 9wE Bw 5O 8B wewr eDEELE.

(ili) omE DomG Dl wews eI BHBNLHS Cd 2 g omE ©BEX
ebegeni

(iv) wucE o ¢80 B e »vgsits § ¢1o. anE Bew EDEELR

(B3x4=cnawl2)



04.

05.

swm gledDs @mame BO®ITVD Thed 80w mwEE WOBsT emIwdwst Bwsim.

(2)
(&0)
(&)
()
(@)

(a)

(b)

(c)

(d

(©)

F38m8 mdwe

D108 gDdSm BBDw
G83m v veame BT
Bom® BEde womnw
BEB8m0w (5x5=cme 25)

“o0” @made

w5 3d®mden DuesInm.

i —25x+74 =6(3x—2) | (cmew 02)

2x -3
i = 03
M = (e 03)
24
(iii) -3-3‘-~6——x- =20x (cmes 03)
B0m 80m8 w8mden Dwersin.
—2y=-3x+2 ( 04)
5y =2x+6 CRB
3x? =21x+30=0 BesesIn. (cmeg 04)
a=2,b=3,c=-1 58, vun ymame dwesIm.
—b(—a)’ +2b+3c¢> -3
; (Cmen 04)
(c—=2)y ~a-b =
157 2 = o0 @mmyem 8@ 61.35/-8. w557 3 w0 @mm 4 = 61.65/- B. v wo
Ommem B eewesTn. (eme 05)
(8 cmem 25)

Doedes K, U, L sw N ece a8 ¢Ox 080 48 82 0f8. s8uidnl esgw 8§
a8ecbs yhrmewns! 15% f ewme vresd. ¢@cdn adad y@rmeny swn 8iE ed.
K—-675,L—-425,U-530,N-370

1)
(i)
(i)
(iv)
v)

QOB EMICHG HHECH ‘UmONHmE’ W ‘BwEwe’ vn 8 5wEE »isTm.

(e 04)
eO8 B®0s g0 W B8 g0 OGHDG MOBIB. (e 04)
28O uBxiwd sem 8dE and Bwilnn G 0sisn gyd: BLnd mosTm.

(cmen 03)

a@cdn mem dnam BwaBesd @ah osiow ayd 8dnd mdsim. (cmen 09)
28 cds wem DY Buwlwsl EH vston gyd B8nd mdxlm. (emen 05)

(o cmyen 25)




(6. mED easnEm O Vum ewsl Dnen® BENE ¢xin vun gufed.

(a)

A(b)

(c)

#7Ywe

®BBIBG

®neddw

®ame =

8E sdsae (68sed) e O©HD
0—100 25

100 - 200 49

200 - 300 21

300 - 400 16

400 — 560 _09

120

Qun can wewn  BoHD 6ewst Hedd ggsin.
1) the efdw (cmen 05)
it) 8500250 DNFHC®D (emen 03)
Qum B sewn vun Hedn BA® vwHG DOBIB. :
(1) ®OBBSG (emen 02)
(i) ©asEow (cmen 04)
(1)) ©me (cmey 04)

X qoo vhes -2 804 ¢ty y=3x+2 2®mimed gE¥de qesin.

(gesnd mBBun ewg Osim.) (cme 07)
(§© cmen 25)
o/
xf
n,—F
L+ A xXC
/
L+ 9 xC
d, +d,

. 88O ¢B8& -



THE OPEN UNIVERSITY OF SRI LANKA - - :
CERTIFICATE IN ENTREPRENEURSHIF AND SMALL BUSINESS MANAGEMENT
PROGRAMME — (LEVEL 02)

FINAL EXAMINATION —-2017

MCC1103 - BASIC STATISTICS & ECONOMICS

DATE: 12™ NOVEMBER 2017

TIME: 10.00 AM - 12.00 NOON

General Instructions

(01)

(02)

Answer two (2) questions from part “A” and two (2) questions from part “B”.

It is advisable to spend one hour for each part.

Provide answers for each part separately in separate answer books and hand over
them separately.

Graph papers will be provided.

Non programmable calculators are allowed.

(i) “Basic economic problems are faced only by poor countries of the world”.
Do you agree or disagree with the above statement? Explain. (05 Marks)

(ii) Explain the basic features of a free market economy? Provide examples.

(10 Marks)

(iii) Using Production Possibility Curve analysis explain the following.

(a)

(b)

*
®
*

)
(i)

Decreasing opportunity cost.
Unattainable levels of production.
Underutilize resources.

What is the law of supply? Explain. (05 Marks)
Differentiate between changes in quantity supplied and change in supply.
(08 Marks)

Using demand and supply analysis explain the likely changes in the respective
market under the following given condition. Use illustration to explain your

answer.

(®

(ii)
(iii)

(iv)

People expect that the price of motor vehicle will go up in the near future.
Market for motor vehicles.
When the price tea goes up, market for sugar.
Fertilizer subsidy has been introduced for coconut growers, market for
coconut.
Maximum retail price has been introduced for rice, market for rice.

(3 Marks x 4 = 12 Marks)



(03)

(M

Write brief notes on the following to clearly bringing out the meaning.

(a) Monopolistic Competition
(b) Increasing Gpportunity Cost
(c) Calculating Economic Profit
(d) Concept of Scarcity ‘
(e) Productivity
(5 Marks x 5 =25 Marks)
Part B
Answer 2 questions only
(a) Solve the following equations:
(D —25x +74 =6 (3x - 2) ‘ (2 marks)
B 2x -3 3 "
(ii) G2 s (3 marks)
3x2%—4x
(iii) s 20x (3 marks)
b) Solve the following simultaneous equations: (4 marks)
—2y = —=3x+ 2
S5y =2x+6
c) Find the solution of 3x% —21x+30=0 , g (4 marks)
d) Ifa=2,b=3and c = -1, then find the value of the following expression.
—b(—a)3+2b+3c%-3
> (4 marks)
(c—=2)¢—a-b
e) Two pens and one eraser cost Rs. 35 and 3 pens and four erasers cost Rs. 65. Find

@)

the cost of pen and eraser separately. " (5 marks)

(Total 25 marks)

A company buys 4 types of raw materials as K, L, M and N. An inspection was carried out
by selecting 15% of the whole set of raw materials. The quantities are as follows: K — 675,
L —425, M - 530, N — 370.



3)

i - Bneﬂy expldm the concepts of'™*1 popvlatlon and Sa'nplc us >mg the ubOV\.« scenario.
, . o , {4 marks)
(ii) Obtain the populaticn size and the oample size. , - {4 marks)

(iii)  Explain how you can pick a simple random smnple of raw mater1a1° (3 marks)
(iv)  Explain how a stratified sample of raw ‘materials. . (9 marks)
V) Explain how you can pick a systematic sample of raw materlals f (5 marks)
(Total 25 marks)
(a) The (’ljatq for the sale of books at a small book shop for a period of one month are
as follows:
Price range of books (Rs.) | Number of books
0 and upto100 25
100 and upto 200 49
200 and upto 300 21
300 and upto 400 16
400 and upto 500 9
Total 120
a) Construct the following for the above data.
@) Histogram ‘ C (5 marks)
(ii) Frequency Polygon (3 marks)
b) Find the following measures for the above data.
() Mean : . : : (2 marks)
(ii) Median (4 marks)
(iii) Mode (4 marks)
(b) Plot the graph for y = 3x + 2 (where x values range from -2 to 4). (7 marks)
(Use a graph paper) (Total 25 marks)
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